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IBPS RRB PO Prelims Previous Year Paper 2023

Directions (1-5): Study the following information carefully and answer the questions given below:

Eight persons P, Q, R, S, T, U, V and W were born in different years viz. 1994, 1996, 1998, 1999, 2001, 2002, 2004 and 2005 but
not necessarily in the same order. Base year is counted as 2021.

At most one person is older to P. Two persons were born between P and V. Q was born just before V in the odd numbered year. R
is 4 years older to T. W is older to U and just younger to S.

Raferiee sl w1 earmgEs stegaer Fifr sl A i 1o v % s

A AP, QR, S, T, U, V 3T W T SI7H S-S a6t AATd 1994, 1996, 1998, 1999, 2001, 2002, 2004 3T 2005 H 3T &T A fohel
STELY T o6 THT FH § g3 21l 2021 T e a9 % &9 § {7 Srar )

STfers & a7fere Ua =4t P ¥ A=T €1 P 3T V o &= 21 AR 7 e g3l 27| Q &7 S0 A Feam arer a9 § V & S T8l gan M R, T
T4 TG TSI W, UH TET 2 &I S § 31 ST gl

Q1. Who was born in the year 1998?
¥ 1998 # foreant ST+ g 97

(@P

(b) Q

(R

(d)T

(e)U

Q2. In which year S was born?
S T S+ foh et § gerr am?

(a) 2002

(b) 1999

(c) 2001

(d) 1998

(e) 2005

Q3. Which of the following statements is true?
el FA FaRa-araT §?

(a) P was born in 1994./ P T /1 1994 # a1 4T
(b) Vwas born in 1996./ V T 57 1996 ® gaT 4T
(c) Tis the oldest among all./ T Tt § qa & I=T 8 A

(d) U was born in 2002./ U T =7 2002 H g1 =T

(e) Ris older thanP./ R, P @ram% MA'B*AANP§CK
Q4. How many persons were born between W and T?

W iR T 3 = it saReit a7 =t g2 for all Bank & Insurance
(a) 1 Exams

(b) 2

(c)3
(d) 4
(e) Cannot be determined,/ e AT faham ST TaFvaT

ke,

Selection Ka Saathi :
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Q5. Who is the oldest person among them?
ST A qEQ aST AR R 87

(@) P

(b)Q

(AR

(d)s

(e)V

Directions (6-8): In each of the questions below some statements are given followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

Hor T 7T T8 o W T U A STk 91 T Ao U 1T €| gy fRU T FAT a4 AT E, S g F QI 09 & "
R et g g1 et et &t i o e o FifSrg o g o Rrshet & & si-ar R amm= ST a4 &1 FerGEiarst #3 g
R T o T AT T & ST FAr )

Q6. Statements: All flowers are plants. Only a few plants are fruits. No fruits is vegetables.
FAT: T B 9T §| FAA T U1 FA g AT Fel oo [ A5} gl

Conclusion I: Some flowers are fruits.

e I: T2 7 A 5

Conclusion II: Some plants are not vegetables.

Foreamef[1: o oy s 7t 2

(a) If only conclusion I follows./ If& Faet e [ SATHTOT FXAT

(b) If only conclusion II follows./ T2 Faer At 1 ST FLAT &

(c) If either conclusion I or II follows./ T a7 T FATHT [ AT 1 SATHLOT FLaAT &

(d) If neither conclusion I nor II follows./ & 7 T e [ 3 T T 1 THTT FLAT &
() If both conclusions I and II follow./ ZIf& fA=ht [ si< 11 2ot FTHLOT FAE

Q7. Statements: All mammals are bird. All birds are eggs. No eggs are reptiles.
FAT: THT FATLTL TeAT 5| THT TeAT 312 §| FS =7 9097 a1 6

Conclusion I: Some mammals are eggs.

e I: g e S B

Conclusion II: Some reptiles can be birds.

e 11: g w0 el 21 Ak 2

(a) If only conclusion I follows./ 7% Faer faee | TELIT HLAT g

(b) If only conclusion II follows./ = Faer (AT [ ST FLAT &

(c) If either conclusion I or II follows./ T a7 AT FTHT [ AT 1 SATHLOT FLAT 8
(d) If neither conclusion I nor II follows./ & 7 T e [ 3T T 2T 1 AT FLAT §
(e) If both conclusions I and II follow./ 7% e [ 3T 11 EAT STHLOT T &

Q8. Statements: Only a few apples are oranges. All oranges are bananas. Only bananas are grapes.
TAT: FAA T 0T GAL 8| T HAL el 21 el shel ST 2

Conclusion I: Some apples are bananas.

Ao I: 7= 99 FA 5

Conclusion II: Some grapes are not oranges.

Ao I1: = SR Fa7 751 2

(a) If only conclusion I follows./ If% Faet AT [ SIHTOT F¥AT §

(b) If only conclusion II follows./ = Faer fAeF [ ST FLAT S

(c) If either conclusion I or II follows./ T a7 AT FATHT [ AT 1 STHLOT FLAT S

(d) If neither conclusion I nor II follows./ & 7 T At [ ST A T 11 TEIT FATE
(e) If both conclusions I and II follow./ =t fAeeRe [ 3= 11 <=t TEIT FAG
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Directions (9-13): Study the following information carefully and answer the questions given below:

Nine boxes are arranged one above the other. More than four boxes are placed below the box G.

Three boxes are placed between box G and box H. The numbers of boxes are placed above box H is same as the numbers of boxes
placed below box C. Box A is placed two places above the box E which is placed just above the box I. Box F and box H are not
placed adjacent to each other. Box B is placed above the box D but placed below box E.

e sl it e gEe srerae fiforg o A= R s F s

T T T T o 9T U A ed T T 81 ate e G 3 1= =12 & srfare ave v T )

i G AT T H 3 = I Tt T T0 ) SirT H o 39 T T 1 it F&AT, S C 3 #= T U 1o ohl ST o FHT g1 Fie
E, Torr e 1 3 21 S92 T@T AT 8, S A Tl I8 &1 €419 FL T@T TAT 1 ST F 317 T H TFH-g8L 5 A6 dal ¥ TT &) FiF
B T ST D % ¥ TET AT ¢ Afshe S E o 1= T&T 97 2

Q9. Which box is placed exactly in the middle of the arrangement?
FIFT-AT T AGEIT F S Heg § @I ATR?

(@) A

(b) E

(0 C

(d)D

(e) None of these / T7H | &S Aal

Q10. How many boxes are placed between boxes A and 1?
i A 31 o o b St <@ T €7

(a) Two/ &¥

(b) Three/ &=

(c) One/ T=

(d) More than four/ =¥ & stfars

(e) None of these / T7H & FIs Aal

Q11. If box F is placed immediately below box D, how many boxes are there between boxes F and G?
FfX qtr F R 9t D 3 i (1= T@T 741, A S0 F 3R G & A= frqa St 82

(a) Two/ &¥

(b) Three/ &=

(c) One/ TH

(d) Four/ =91

(e) None of these / 3% & Fls Ag!

Q12. The numbers of boxes are placed between box G and box H is same as the numbers of boxes are placed between
box___andbox ____.

i G AT T H F 19 T T T T G4 Ia+1 o1 & ot st ___ iR afew __ F g @ Tu st 1@ gl

(@)CH

(b EG

(c)G A

(dH,B

(e, C

Q13. Which of the following statement is true?
AT d ¥ a-arFea aa 8?

I. Box F is placed above the box E

T F T 199 E F FICT@TTATE

I1. More than two boxes are placed between box A and box I
i A S 1 [ o 1= &7 & T8 e T T g

I1I. No box is placed below the box H

e H o = Fls qiFe Tei T@1aarg
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(a) Both I and 111/ II 3 111 S+t
(b) Only I/ Fae I

(c) Both I and I1/ I &% Il g1+t

(d) Only 11/ Fa<T 11

(e) All L, I and 11/ &Y I, 11 3 111

Directions (14-16): In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusions. Mark answer as

T WAL A, FAAT A A acat F fi g 91T =T g1 I HAATE H 918 & Ay g1 ST A {w ' # sifEa fifvw

Q14.
Statements/ PYA: [<Q<L=M;K=Q>P
Conclusions/ fA&FY: 1.] <P ILM>P

(a) If only conclusion I follows. / T3 Faer fAet | ST AT g

(b) If only conclusion II follows. / 7t Faer fAewe 11 FAHIOT HIAT g

(c) If either conclusion I or II follows./ % =T AT fAe=e [ 47 11 FAEIOT KLAT g

(d) If neither conclusion I nor II follows. / 7% 7 a7 Ay [ =T 7 &1 1 FAEIIT HLAT g
() If both conclusions I and II follow. / Tf& AT At [ 37 11 SRR FA G

Q15.
Statements/ ®Y: A<K<T=C>Y;T=N>P
Conclusions/ fFeP®: 1. v > A ILC>P

(a) If only conclusion I follows. / T Faer A [ THTOT FIAT 8

(b) If only conclusion II follows. / T% Faer T 11 SITATOT FIaT 8

(c) If either conclusion I or II follows./ T AT AT AR [ AT 11 ATALT FIAT &

(d) If neither conclusion I nor II follows. / #f% 7 AT [AeFT [ 3 T & 11 SIHLOT F2AT &
() If both conclusions I and II follow. / Tf& T At [ 37 11 SRR FA G

Q16.
Statements/ PY: GzH>I=L<M;V<K<0
Conclusions; @ 1.0>1 ILL>0

(a) If only conclusion I follows. / &If Faer fAe | TAHLOT LT g

(b) If only conclusion II follows. / T% Faer T 11 SITHTOT F2AT &

(c) If either conclusion I or II follows./ T AT AT AR [ AT 11 ATHIT FAT &

(d) If neither conclusion I nor II follows. / #f% 7 @7 fATFT 1 3 T & 11 SIHLOT F2AT &
(e) If both conclusions I and II follow. / T FT AT [ 3T 11 ATETT F2d &

Directions (17-20): Study the following information carefully and answer the questions given below:

Certain numbers of persons sit in a row and face north. A sits 314 to the left of F. Three persons sit between F and R. R sits 2nd to
the left of C who sits just left of V. One person sits between U and V. U sits right of C. B sits 21d to the left of N and 3rd to the right
of U. Q sits 31 to the left of D who sits just right to A. The numbers of persons sit between Q and R is one more than the numbers
of persons sit to the right of N. No one sits left of Q.

Raforia ST it sAEEes sTeqa HINT ST A= g ¢ st & SO Afral

fAfera dwear & srfce v dfte § 95 8 3 397 it 3 4@ 7 31 A, F % 913  d 168 T 92 927 1 F &7 R % &= = =it 3% 2
C, ST V & &1 arft A o7 &, R & 18 § 8¢ €1 9% 327 81 U 3 V& = uF =16 F27 g1 U, C % 310 F3T 81 B, N F a0 & gov
TATH 9T 377 U % I0 F T I 92 93T 81 D, ST A F 5V a3 937 8, Q 39 a4 & 16 TI19 U2 937 gl Q 3T RF S+ 9% =t
F1 H@EAT, N qT 37 58 AR 6§91 F U qfaF g1 Q F aTE A TS T2t a7
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Q17. How many persons are there between D and Q?
D 3T Q & &= fanaw =af=e &2

(a1
(b) 2

0 _ Prime-

(e)5

ALL EXAMS,
ONE SUBSCRIPTION.

Q18. Which of the following statements is true?

faffem wuat § @ a-ar e &2
(a) B sits to the immediate right of N./ B N & $I% 213 921 g 2 =

(b) U sits at one of the ends of the row./ U 4fxF % fFt tF g me 921 8 @
(c) A sits to the immediate left of F./ A, F % & aTS 3T 37 g

(d) V sits at one of the ends of the row./ V Uf<F & ol T ¥ a< 937 g
(e) C sits second to the right of R./ C, R a3 & ?ﬁ T T 3T &

Q19. How many persons sit in the row?
ifF § e =fe 9582

(a) 19

(b) 21

(c) 27

(d) 17

(e) 18

Q20. How many persons sit between V and B?
VIR B fi= faq sfRe d5 2

(@)9

(b) 2

(c) 4

(d)7

(e)8

Q21. In the number ‘479486553’, if odd digits are subtracted by 1 and even digits are subtracted by 2. Then, what will
be the sum of the digits which are 2rd, 4th and 6t from the left end in the new number formed after rearrangement?
HEqT '479486553' 7, AT fAww ol # & 1 FewAT ST i< 99 il § & 2 T AT, T [T a7 F q1% 91 95 &7 § 76 G
| O, FY S FS et &1 T01 =T g7

(a) 13

(b) 14

()12

(d) 16

(e) None of these/ T & FIs Tal

Directions (22-26): Study the following information carefully and answer the questions given below:
[EEIRIERISIEENREIRRIEE CERC EPRE T | SIS 1 bl A L] RS R S
In a certain code:/ TH AT $e #:

“Shuffle new word” is coded as “xf bf go”

“Shuffle new word” T “xf bf go” & ¥ H Fedg a1 AT

“New word towards corner” is coded as “xf bf hu hh”

“New word towards corner” &l “xf bf hu hh” & &7 § Feag T T g
“Towards chapter word table” is coded as “hu qt bf dm”

“Towards chapter word table” #T “hu qt bf dm” F &9 # Feag fFaT 1T 8
“Table around towards” is coded as “dm ch hu”

“Table around towards” & “dm ch hu” & 7 & Feag a1 137 8
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Q22. What is the code for the word “Towards”?
T “Towards” & (T Fe FAT 8?7

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ SUZI<H § | T :rrﬁ

Q23. What is the code for the word “chapter”?
“chapter” 9153 % T Fe T &2

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ SUZITF § | IS Aal

Q24. Which of the following word is coded as “ch”?
RrerforRe # & iy 9152 1 "ch” ¥ &7 § Feag v T 7
(a) New

(b) Word

(c) Towards

(d) Around

(e) None of the above/ SUZIRE § | IS Agl

Q25. What is the code for the word “Table new corner”?
“Table new corner” 153 % {7 Fz FAT §?

(a) bf go hh

(b) hu hh dm

(c) gt ch hu

(d) dm hh xf

(e) None of the above/ SUZIRE § | IS Al

Q26. Which of the following word is coded as “xf’?
Fefafaa & & fr a5 it "xf" & 9 7 Feag R mre?
(a) New

(b) Word

(c) Towards

(d) Chapter

(e) None of the above/ SUTITF § | IS Al

Directions (27-31): Study the following information carefully and answer the questions given below:

Seven persons from M-S live in seven storey building and belongs to different countries viz. Italy, Canada, Germany, China. Spain,
India and Brazil but not necessarily in the same order. The bottom most floor is numbered as 1 and so on till the topmost floor
is numbered as 7.

S lives two floors above the one who belongs to Brazil and live on prime numbered floor. More than two floors gap between S
and the one who belongs to Canada. N belong to Spain and lives three floors below the one who belongs to Canada. O lives just
above the one who belongs to Italy. The numbers of persons live below M as same as live above R who lives just below P. The
one who belongs to China lives just above the one who belongs to India.

Raforia TR T SAEEs Seqa HINT ST T fg ¢ i & SO AifrQ)

M & S T JTq SAT<h |TT HISTAT THIA § ¥gd & A (AT 3omf A7 Teeil, FATST, STHHAT, =, TUF, AT 3T AT & § o fohel STeet
el B =5 W | 2N Fag et df5er w1 17 FAitna B 19 § o7 36 T FHIRT Fd g0 q 9 SOl 7S w0 7 |/ HHi G
[ERIRIR IS
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S, STSTer & Hafard =feh & <1 WiSrer 39 TgaT 8 Sl STATST H6eaT Tl HiSrer 9% TgaT g1 S oY FeTeT & Haferd =i & = ar wivrert
T wrfere 7 FqT g1 N T F Haferd g v FATeT F "aterd oafh & N wioret = wgar 81 0 Tt & gafaa =1f<r % $% 3% Tgar g
M % == 75 a1t SRt 7 ", P i = T 9ol R FUT T AT SFRAl Y HedAT F g9 2| ST =AfRE H9 7 €, a8 9
H Hetera =f<h & 21 397 AT &l

Q27. Who lives on the 5t floor?

5t HiSer 9 i TEar 82

(@)Q

(b)S

(c) The one who belongs to Italy/ 95 =R ST Teet & Ha T g
(AR

(e) Both (a) and (c)/ (a) 3T (c) AT

Q28. Which country does O belong to?
O 3 2er & Tt &2

(a) India/ w\TLT

(b) None of these/ T#H | &I Aal

(c) Brazil/ SITS{Ier

(d) China/ ==

(e) Germany/ STH+T

Q29. How many floors are there between P and the person from Canada?
P 3 FATEST & SATE & o1 fohaeil G0t &7

(@)1

(b) 2

(c)3

(d) 4

(e) Cannot be determined,/ A&t FET foFaT ST FehcAT

Q30. Which country does the person on the 3rd floor belong to?
fradt wiorer v =afe o I 87

(a) Germany/ STH+t

(b) Brazil/ aITS{er

(c) Italy/ Teeft

(d) China/ ==

(e) Canada/ &ATST

Q31.Ifall the personslive in alphabetical order from top to bottom then how many persons remain at the same position
(Excluding M)?

e o+t E T8 U T o9 = T& JUTHRA J @ & ar fhae e TF & &9 T a9 @d 82 (M F FEH9)

(a) One/ T

(b) None/ #T< &1

(c) Two/ =¥

(d) Three/ &=

(e) More than three/ 1= & s1far

Directions (32-34): Study the following information and answer the questions given below:

W walks 8m towards west from point P to reach point Q. He takes a left turn from point Q and walks 10m to reach point R. He
takes a right turn from point R and walks 12m to reach point S. He takes another right turn from point S and walks 6m to reach
point T. He takes a left turn from point T and walks 8m to reach his home.
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el s #71 srerga fifvg i = R 1w e F saedfcm

&g Q@& 79+ & forw W &g P & afer 7 o 8 Hiex =«ar g1 ag f&6g Q & arg &Y {=aT g ¥ &g R % wg=+ & forw 10 #iex
FqT | 9g fog R¥ TS ¥ {=aT & 4 fog SaF ug=+ & forw 12 e =rerar g1 a8 &g S & v# a1 {2 310 qear g ox fg Ta=
TEA % T 6 Wiex 7ear g1 9€ &g T | 910 {=a7 € ¥ S+ 5 aF Tg= & o0 8 #iex 7aa7 g

Q32. In which direction is point T with respect to point to Q?
fig Q& araw # fig T e s 7 @7

(a) North/ 3<¥

(b) South/ zfaror

(c) South-east/ ?{f&\“WT-‘IEf

(d) South-west/ aferor-afam

(e) North-east/ ITE-Td

Q33. What is the shortest distance between point S and W’s home?
W 3 5T o g S 3 ey e o Rt 22

(a) 22m/22 #Hiex

(b) 10m/10 Htex

(c) 12m/12ex

(d) 26m/26 Hex

(e) None of these/ TAH ¥ Fils Aal

Q34. What is the total distance travelled by W?
W BT 9 it T2 For g fadt 82

(a) 47m/47 Hex

(b) 40m/40 Hex

(c) 44m/44 Hr=x

(d) 41m/41 Hex

(e) 36m/36 Hiex

Q35. Find the odd one out?
SEEAR PEENIS IS IREE L
(a) UPR

(b) RMO

(c) LGI

(d) GBE

(e) YTV

Directions (36-40): Study the following information and answer the questions given below:

Eight persons sit around a circular table in which some of them face inside and some of them face outside.

H sits 3rd to the right of K and both face the same direction. I sits opposite K but both face opposite direction. L sits 2nd to the
right of L. F sits opposite D who sits 2nd to the left of E. Immediate neighbor of E face opposite direction as E faces. G sits 314 to
the right of D and not an immediate neighbor of I and K. L and E face inside. G and F face the same direction.

et s & segae fifvg sie = R e e & S &

AT TR T TATHRTE A & AR AT 55 8, 8 & T F7 @ 7T AT AT g 37T T 1 G d18L 6l A7 gl

H, K% a8 | S99 T 92 927 § & a1 &7 47 9979 fRom & 81 1, K Ao g1 8t @i &1 g9 Foda Rearfr e g L, 1
% 0 L T 9T J3T g1 D, ST E % a0 gAY ©I19 9¢ 927 7, F 39 i 927 2| E & Meead T2 &7 4@ E & faoda fRem & 2
G, D % TTd | THY T 92 927 ¢ 9T [ 3% K FT1 FAeheaq T2 781 g1 L 377 E FT 9@ 378 A1 A g1 G ¥ F 7 @ a9 a1 7 gl
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Q36. Who sits 3 to the left of F?
F 3 970 & T T 9 &I 837 87
(@A) H
(b) L

(01
(d)G

(e) None of these / H & #IE A5l

Q37. Who sits opposite the one who sits just right of G?

G ¥ &t 18 95 =R F Al i dor 82
(a) L

(b) I
(aH

(d) None of these / =7 | &< qgl
(e) F

Q38. How many persons sit between E and I when counted from the right of I?
1% T€ AT & Rt #3792 E 37 1% fit= g =af=e 85 82

(a) Four/ =X

(b) Three/ &=

(c) One/ TH

(d) None/ #T< FgT

(e) Two/ =¥

Q39. Which of the following is true?

FRafofag & g fw-ar agr 2

(a) G sits 2nd to the left of I/ G, I % =Tt @TE;H%FW‘T(@N%

(b) H and F face the same direction/ H 3% F U= g {9 ¥ &7 3@ &

(c) L and D are immediate neighbors / L 3fi% D fAsreaw 92Tt &

(d) E and G face opposite direction to each other / E 3T G Q‘cﬁﬁ #FY ot fRem #ir s IHE ]
(e) All are true/ T 97 §

Q40. Who are the immediate neighbors of E?
E ¥ fieeaw 92146l S 82

(a) Kand F/ K 3T F

(b) Land D/ L 3fT D

(c) Gand K/ G 3fiT K

(d)Iand H/ 13T H

(e)Dand G/ D 3T G

Q41. A and B entered into a partnership business with investment of Rs. 1300 & Rs. 500 respectively. After six months,
C joined them with investment of Rs. 1800. At the end of a year, the profit share of C is Rs. 360. Find the difference
between profit share of A and B.

A ST B FAL: 1300 T 3T 500 TG & (39T & G AT § TF AG9H L& A7) S8 "giA & 918, 1800 T9F & a9 & 9191
C S 9T € ATl T& a9 6 o |, CHT ATH 360 I g1 A 31X BH ATH & 19 SAq< ATd Hivq|

(a) 480 Rs./ 480 =T

(b) 280 Rs./ 280 =94

(c) 400 Rs./ 400 &7%

(d) 320 Rs./ 320 =97

(e) 180 Rs./ 180 =9
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Q42. Five years ago, the average age of A and B was 15 years. The ratio of present age of A and Cis 6 : 5 respectively. If B
is four years younger than C, then find the sum of present age of B and C (in years).

gt ¥ 7ga, A $iX B fit st sy 15 7 ofh A s ¢ Y adam g T AguT #E9 6:5 81 AR B, C ¥ IR AW Grer d, T B R CH
FAAT A T AN (TS A) AT AT

(a) 34 years/34 a9

(b) 32 years/32 a9

(c) 36 years/36 a9

(d) 24 years/24 a9

(e) 40 years/40 T

Q43. The average weight of eight people is X kg. Two new people joined them with total weight of 151 kg and average
weight of all people increased by ; kg. If the weight of lightest people out of two people joined is X-5 kg, the find the
difference between weight these two people who joined later.

TS SARRAT T 3aa Foi X e ) ﬁm@ﬁwﬁwaﬁwﬁmﬁrgﬁm151ﬁwﬁwm3ﬁtmﬁﬁﬁmaﬁwmg
e 92 @ s e g I A 999 goh AN HT a9 X-5 TR §, 91 919§ QRS g a1 A1 A F a9 6
f= =7 s T fiform
(a) 27 kg/27 Trerrams
(b) 21 kg/21 et
(c) 15 kg/15 foerrame
(d) 25 kg/25 et
(e) 22 kg/22 Tarerrame

Q44. A gets 40% marks in an exam and he received 40 less marks than passing marks. B gets 70% marks in same exam
and received 20 more marks than passing marks. If C gets 65% marks in the same exam, then find the difference
between marks received by A and C in the exam.

A FY TF TOAT § 40% 3 TTH I g i< I& IAT (1 & 40 3 FH T &1d 51 B T IHT 74T § 70% 3 IT7 a8 A 39
AT 3fT & 20 i T T A 21 AR C AT FHE T H 65% 3 Fra &, 7 701 # A 3R C gy a1 St & i+ fqe a0
RS

(a) 30

(b) 60

(c) 40

(d) 25

(e) 50

Q45. A man invested Rs. P in scheme A on compound interest at rate of 10% p.a. for two years and he invested Rs.
(P+500) in scheme B on simple interest at rate of 12% p.a. for same period of time. If the interest received by man from
scheme A is Rs. 150 less than that of from scheme B, then find amount invested in scheme B.

T R T TSHT AR IV a6 & [T 10% JT1F & Tohgfeg oA 9 P &Y F7 Haer B si sa9 a0 st ¥ e 12% arfes
T | GTETLT TS 9 T9WT B 7 (P+500) 793 1 R fvam 3t safxe & Timm A & w1 3T, JiST BE T8 o4 9 150 393
wH &, qT TroT BH [aer & 1€ iy stma v

(a) 1250 Rs./ 1250 =93

(b) 1000 Rs./ 1000 =4

(c) 1500 Rs./1500 &7

(d) 2000 Rs./ 2000 &7

(e) 2500 Rs./ 2500 =9

Directions (46-50): Find the wrong number in the given number series.

Z TS GIAT HGAT A AT AT AT HIoT
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Q46. 6400, 400, 50, 12.5, 6.25, 3, 125
(a) 400

(b) 12.5

(c) 6.25

(d)3

(e) 50

Q47. 34, 32, 36, 30, 38, 48, 40
(a) 34
(b) 32
(c) 48
(d) 36
(e) 30

Q48.43, 47, 56, 72, 108, 133, 182
(a) 72
(b) 56
(c) 43
(d) 47
(e) 108

Q49.12, 28, 60, 108, 172, 256, 348
()12
(b) 28
(c) 60
(d) 256
(e) 108

Q50.3, 7, 27, 112, 565, 3396, 23779
(@) 7

(b)3

(c) 27

(d) 565

(e) 23779

Directions (51-55): The table given below shows the total number of rooms available in the five different hotels (A, B, C,
D and E). It also shows the number of vacant rooms in these five hotels. Read the data carefully and answer the following
questions given below.

= & T qriersT 9 ST- ST grewt (A, B, €, D $i% E) H SUse R Y $oT HAT IATHY §1 TG T AT Gl § @I FHL bl 6T
ST FETdT 81 ARST T SAWIE S 7T Hiorg i< = w17 e w6 St Q)

Hotels/ | Total number Vacant
g of rooms/ rooms/ @TA
DA B A FEN

|qE&n
A 220 110
B 250 150
C 280 180
D 260 130
E 310 120

Note: Total number of rooms available in a hotel = Vacant rooms + Occupied rooms

TIE: TF Zled § ITed FHU &l Tl HEAT = FIAT FAL + L g HAC
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Q51. Find the average number of occupied rooms in hotel B, C and E together.
gl B, C 3T E # AT WX gu A it siea 91 A1q iferg)

(a) 130

(b) 120

(c) 140

(d) 150

(e) 110

Q52. In hotel F, total number of rooms available is 25% more than that of C and the number of rooms occupied is 40%
more than the rooms vacant in hotel E. Find the total number of rooms vacant in the hotel F.

gIed F H SUASH FH 6l T G&AT, C H SUASH FHU 1 o G&AT & 25% AT g 3 WX GUFAU 6l 94T, §leot E & @reil FAL T
T H 40% T8 1 e F H @Tedl FAU il T ST A1 Hior

(a) 184

(b) 180

(c)176

(d) 182

(e)178

Q53. The cost of a room in hotel A is Rs. X and the cost of a room in hotel C is Rs. Y. If the revenue generated from the
hotel A is Rs. 55000 and the ratio of revenue generated from C to A is 10: 11, then find the sum of Xand Y.

gl AH TF FAL HT FIAT X T ¢ 3 gred CH TF FAL Ait 99 Y T2 g1 I gled A FIRT AT T 55000 €9 § 797 € 3
A g SRl S 7 ST 10:11 8, A7 X 3R Y 7 207 7119 s

(a) 2000

(b) 4000

(c) 5000

(d) 3000

(e) 1000

Q54. Find the number of rooms vacant in D is what percent of the total number of rooms in the hotel B.
T T % D & @Telt 79 it G&AT, greet B § FHU Al FoT €A1 FT a1 Tfaera g2

(a) 55%

(b) 52%

(c) 58%

(d) 60%

(e) 62%

Q55. Find the number of rooms occupied in hotel A and D together are how many more/less than the number of rooms
occupied in hotel E and B together.

A ST D & AT AL U FAL 6 64T, ged E i B H AT X guHA it 9eam & fhaw(1 a1t /57 872

(a) 60

(b) 80

(c) 50

(d) 20

(e)70

Directions (56-60): What approximate value should come in the place of question (?) mark in the following questions.

Referiea st § wrf=e (2) % e 9 hda T SIgATHa 719 ST IR e?

Q56.

98.99 + 19.98 - 101.03 = 222%7
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(a) 2
(b) 4
(96
(d)8
(e)12

Q57.
V7= (27.99)% — 1180.03 + (20.07)?
(a) 64

(b) 100

(c)16

(d) 36

(e) 144

Q58.
19.09% — 20.04% of 190.04—? = 90.12
19.097 — 190.04 BT 20.04% —7= 90.12
(a) 233
(b) 247
(c) 212
(d) 202
(e) 285

Q59.

32.01 +1.992x 127.99=27
(@) 11

(b)9

(c)8

(d) 10

(e)12

Q60.
24.01% of 449.98 + 72 = (16.01)2 - {/63.93
449.98 DT 24.01% + 7° = (16.01)° — V/63.93

(@)8
(b)12
(c)10
(d)9
(e) 14

Q61. In a mixture, the quantity of milk is x liters and water are 8 liters. Five liters pure milk and six liters of water added
in the mixture so that milk becomes 75% of resultant mixture. If 10 liters of resultant mixture is removed, then find the
remaining quantity of mixture (in liters).

T FRsIor & g ot /7T x e Sl a1 1 4T 8 e gl FAsor § o= oflex 8 T Sl &8 AT I AT SITaT § q1ieh g Tt
AT &1 75% o STw| Tt Rt fsor @ 10 e R fRar s, ar s dr 9w wrEr (e §) o fifvm)

(a) 48

(b) 42

(c) 56

(d) 46

(e) 37
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Q62. In aright-angled triangle hypotenuse is 84/10 cm and based is half of the height. If height and based of the triangle

are equal to height & radius of a cylinder, then find
curved surface area of cylinder.

T GHHIT AT & F0f 810 FHT g 37T AT FATS HT 30T gl AT By i FATE 3K SR TF 99+ T F9718 3 FBream & &

2, AV I T T T @B A FHory
(a) 512w cm? /512m FHT?

b) 256 T cm? /256 T &FHT2

c) 128w cm? /128 m 72

d) 556 T cm? /556 T qH2

e) None of these /Z7# & FIE TE1

~ o~~~

Q63. The ratio of speed of P to speed of Q is 5:8, P covers D km distance in 3 hours and Q covers (D+40) km in 2.5 hours.
If P increases his speed by 25%, then find the time taken by P to cover (D+180) km distance. (in hours)
P Y 919 #7 Q T 1T F SUTT 5:8 §, P, D FHT Fr g 3 e H ay At g 3R Q (D+40) i fr g 2.5 e A qw s 1 afk p

YT AT 25% SET 4T &, AT P 51T (D+180) 3t it T 7 F+3= # o 1 aw 311w Fifsrqy (52 H)

(a)6
(b)5
()8
(d)7.5
(e)4.5

Q64. The sum of five consecutive multiples of four is 200. Find the smallest multiple.

T 3 i SFARIE USIT o7 AT 200 21 9 SieT IOr 71 A

(a)28
(b)44
()36
(d)32
(e)40

Q65. The speed of boat A in still water is 4 times the speed of stream and covers 24 km upstream in 8 hours. If the speed
of boat B in still water is 2 kmph more than the speed of boat A in downstream, then find the time (in minutes) taken

by boat B to cover the same distance in upstream.

T Tt | AT A T =T, 1T T =Tl &1 4 AT & i< 8 W& & o=y o Audia 24 fnedt it T a9 FT §) Al i It § 979 By
T, FTRT & AqHA 19 A F 91 & 2 fwefy af st i &, a1 ar & {oda a9 g a8 3 § 919 B g7 ot /3 a9 (e

%) s hifsr
(2)210
(b)180
(c)240
(d)300
(€)360

Directions (66-70): The bar graph given below shows total number of people
(Vegetarian + non-Vegetarian) visited in five (A, B, C, D and E) different
restaurants daily. Read the bar graph carefully and answer the questions.

= e 7 e e gt o A e (A, B, ¢, D SR E) & S 9t /it
(TR + AATEIY) Hi T G&AT HI SATAT &l <€ @G &l SAFIAH LT M T

& I AT

A

BANK

MAHAPACK

for all Bank & Insurance

Exams

Selection Ka Saatﬁt
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20
A B C D E

B Vegetarian / W WIGERT M Non-Vegetarian / m OiEBRT

Q66. Total vegetarian people visited in F are %th of total non-vegetarian people visited A and total non-vegetarian

people visited in F are 50% more than total vegetarian people visited in B. Find total people visited in F are how much
more than total non-vegetarian people visited in D.

FH ST a7 e SITTE I AT, AﬁaﬁmﬁgﬁrmﬁﬁmﬁaﬁrFﬁaﬁaﬁ@vmﬁﬁﬁﬁﬁw, BH ST AT
ATHRTEIT AT il TAAT A 50% AT g1 T AT o FH ST a1t T AT, D H T T oA TiATGI ARN T AT H vt AT
&2

(a) 210

(b) 240

(c) 260

(d) 200

(e) 180

Q67. Total non-vegetarian people visited in C and D together are what percent (approx.) more or less than total people
visited in B.

C 3T D § AT T F AETEIT AT, BH T T AR A AT J o AT (ATHT) TFeraw a1 7 82

(a) 83%

(b) 67%

(c) 44%

(d) 71%

(e) 69%

Q68. If daily same number of vegetarian and non-vegetarian people visited in restaurant D, then find total number of
people visited in a week in restaurant D.

I Wee D # yfafed a0 §&4r § aragil Sl ATEgiy AR SITd &, 97 Weeie DH T 9d1g § S aTel A1 6l el G&AT ST
Hif

(a) 1290

(b) 1330

(c) 1310

(d) 1320

(e) 1270

15 I adda247.com/defence | www.sscadda.com www.bankersadda.com | www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Q69. Find the ratio of total people visited in E to that in A.
E & T T AT T AH T FH AN ST AT Hifor

(a) 23:21

(b) 25: 27

(c)23:25

(d) 23:27

() 28: 27

Q70. Total vegetarian people visited in A are what percent more than average number of non-vegetarian people visited
in B and D together.

A ¥ T F ATHTZRY ART, B 3T D # fA@ATHRT T AiE1ERY ARME St siraa weat 8 favaw wiasra sifees €7

(a) 25%

(b) 5%

(c) 10%

(d) 20%

(e) 30

Q71. Average of present age A, B and C is 14 years, while four years ago, average age of B, C and D was 15 years. If the
sum of present of A and D is 27 years, then find the age of D five years hence will be (in years).

A, B 3T C T FdAT o1 7 3q 14 9 &, Sa{H 9 a9 Ug B, C 3 D FT siraa o 15 a9 ofh afe A e D F ada o %1 I
27 a9 &, a1 o= a9 a1e D #F g 719 Ffrw (I F)

()21

(b) 26

(c) 17

(d) 27

(e) 29

Q72. A seller has 230 kg of mangoes which he purchases at rate of Rs. 10 per kg. 20% of total mangoes were rotten in
packaging and thrown away:. If seller sold half of the remaining mangoes at the rate of Rs. 20 per kg, then at what price
(per kg) should seller sell the remaining mangoes to gain a total profit of 15% on the total quantity seller had initially
(in Rs. /kg)?

e faehat % 919 230 RARme o € S 98 10 F93 Tia e i X & @0=ar g1 T A1 § & 20% AW G § |98 10 6k
Svg W foar mam af fRekar F 9= gU ol § @ omd Ay 20 T0F WA e f 2 & 99 Y, 97 skt i aw st F e fwa
(T FoReTIRITeT) 9= =T TR Y atieh fashat T I8 | T q131 9 15% FT T AT TTH 81 G ? (F7A/ v /)

(a) 8.75

(b) 8.25

()85

(d) 9.25

(e)9.75

Q73. 30 women working 9 hours in a day can pack 1000 parcels in 10 days. If the efficiency of woman is % %more than

that of a man, then find how many men will pack 1500 parcel working 5 hours a day for 10 days.

30 wized we R & 9 = Fr <% 10 RAT & 1000 Trfer & < qaeht &1 A Al <o, W B qoraT & 2 0 Afy® &, v

3
FTa hiforg T et W 10 feAT a6 afafam 5 5w Fih 1500 T G HaT?
(a) 52
(b) 42
(c) 48
(d) 108
(e) 50
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Directions (74-75): Given below in each question there are two statements (I) and (II). You must determine; which
statement is enough to give the answer of question. Also, there are five alternatives given, you have to choose one
alternative as your answer of the questions:

F=r fRT T w2 v ® & FAA (1) 3 (1) g1 sray RS F7 8 B v #7139 39 F o f-ar Fwue o iy 82 s9% J«ar, T
ey fRw 7T &, sToat T F S F T A T AT AT B

Q74. Find out the length of train X given that speed of train X is 20 m/sec.
T X T Fars F1a fiforg, FafEw @ X =71 20 HewdEE gl

I. Train X crosses another train Y moving in opposite direction in 6 sec and the speed of train Y is 50% more than the speed of
train X.

2 X farodiq e & =1er & qAET 9 Y F 6 Tahe § U FAT 8 AT 7 Y A AT oF X F¥ AT F 50% AT g
II. Length of train Y is 50% less than length of train X.

A Y FY AT 29 X A 4TS 7 50% FH B

(a) Both I and II together/ I 3f% II FFT THATT

(b) Only statement I/ &< F |

(c) Only statement I1/ & F 11

(d) Both I and II together are not sufficient/ I =¥ Il FFT T AT TATH Tl &

(e) Either I or Il alone/ 3T AT 3tshel 1 AT 3Tehet 11

Q75. Side of square is 3.5 cm more than radius of circle. What will be area of square?
AT T {7 g it BT & 3.5 T i g1 AT BT &A% FAT T2
I. Difference between circumference and diameter of circle is 45 cm.

I AT TIRFE T AT & A A7 Siaw 45 THT g

I1. Radius of circle is 50% more than breadth of rectangle whose length is 15 cm. Ratio of circumference of circle & perimeter of
rectangle is 3 : 2.

1 FT Frsa, 15 Gt FaTS arer A ¥ FAETE F 50% AfAF g1 g it whifer ofiw swaa £ affer w7 s 3:2 2
(a) Only statement II is sufficient

FA FHAT [ TITH §

(b) Either statement I or Statement II alone is sufficient

T A1 A [ 37 F4 11 3Tl 9370 8

(c) Statement I and II both together is sufficient

FAA 1 37T 11 T UHET 7477

(d) Only statement I is sufficient

FAT FAT | 9ATH 8

(e) Neither statement I nor statement Il is sufficient

T AT FAT 1 3 T & FAA 17979 8

Directions (76-80): Solve the given two equations and mark the correct option based on your answer.

R T S FfieRuT Y g hiTorT i ST ST 3 SITeTe U< el fAshew &t sifaha il

Q76.

L2x2-17x+21 =0

IL.3y2-y-4=0

(a) if x>y/ AR x>y

(b) if x2y/ TR x2y

(c) if x<y/ 7tz x<y

(d) ifx <y/ AR x <y

(e) ifx=y orno relation can be established between x and y.

T x = y ATX 3T y F = IS Fae TG Al AT ST HHAT 8
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Q77.
I.2x% -x-45=0
IL2y2—5y +3 =0
(a) ifx>y/ AR x>y
(b) if x2y/ Tf= x2y

() ifx<y/ 7% x<y
(d) ifx<y/FfRx <y

(e) ifx=y or no relation can be established between x and y.

X x = y AT X Ay F A1 TS TFarel TATIOT Tl 67T ST HHAT 8

Q78.

L2x2—-23x4+66=10

IL.3y2—-16y+21=0

(a) ifx>y/ AR x>y

(b) if x2y/ Tf= x2y

() ifx<y/ 7% x<y

(d) ifx<y/ TR x <y

(e) ifx=y ornorelation can be established between x and y.

i x = y AT AT y & S Fls oy A7 el FhIT ST T T 8

Q79.
L2x2+16x+24=0
II. 6¥2+ 13y +6=0
(a) if x>y/ AR x>y
(b) if x2y/ TfT x2y
(c) if x<y/ 7% x<y
(d) ifx<y/ TR x <y
(e) ifx=y orno relation can be established between x and y.

TfT x = y AT AT y & S Fls oy w779 Tai FhIT ST T T 8

Q80.
L12%%-12x=13x-12
IL12y*-13y+3=0

(a) if x>y/ AR x>y

(b) if x2y/ TR x2y

(c) if x<y/ 7fx x<y

(d) ifx<y/ AR x <y

(e) ifx=y ornorelation can be established between x and y.

Tfd x = y AT AT y & E19 IS Faeg w70 T2 haT ST a1 8
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S1. Ans.(d)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 Vv
2002 19 S
2004 17 W
2005 16 U

$2. Ans.(a)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 v
2002 19 5
2004 17 w
2005 16 8]

S3. Ans.(e)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 V
2002 19 S
2004 17 W
2005 16 U

S4. Ans.(c)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 v
2002 19 S
2004 17 W
2005 16 8]
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S5. Ans.(c)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 V
2002 19 ]
2004 17 w
2005 16 U

S6. Ans.(b)

Sol.

Vegetables

S$7.Ans.(a)
Sol.

Reptiles

S8. Ans.(e) A

Sol. BANK
MAHAPACK

for all Bank & Insurance

Oranges Exams

B
ananas Selection Ka Saathi
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S9. Ans.(b)
Sol.

Boxes

QDW= (M |D] (0|

$10. Ans.(a)
Sol.

Boxes

Qo |m(=mo|=(o|m

S11. Ans.(e)
Sol.

Boxes

DT (@|=|m S| =|0|m

S12. Ans.(e)
Sol.

Boxes

oD (W@ |=|m |0
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$13. Ans.(b)
Sol.

Boxes
F

glom|—=|m|o|e o

S$14. Ans.(b)

$15. Ans.(e)

$16. Ans.(c)

$17. Ans.(b)
Sol.

$18. Ans.(e)
Sol.

$19. Ans.(c)
Sol.
Q AD F R CV \) B N
11111

$20. Ans.(c)
Sol.

Q A D F R cCV U B N
I N I [ (N I N A |

S$21. Ans.(c)
Sol.

479486553
268264442
6+2+4 =12
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S$22. Ans.(b)
Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner | Hh
Table Dm
Chapter | Qt
Around | Ch
$23. Ans.(c)
Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch
S$24. Ans.(d)
Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch
$25. Ans.(d)
Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch
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GET IT ON
Google Play

$26. Ans.(a)
Sol.
Word Code
New Xf
Word Bf
Shuffle | Go
Towards | Hu
Corner | Hh
Table Dm
Chapter | Qt
Around | Ch
$27. Ans.(e)
Sol.
Floor Persons Country
7 M Canada
&) 8] Germany
5 Q [taly
4 N Spain
3 5 China
2 P India
1 R Brazil
$28. Ans.(e)
Sol.
Floor Persons Country
7 M Canada
6 0] Germany
5 Q [taly
4 N Spain
3 S China
2 P India
1 R Brazil
$29. Ans.(d)
Sol.
Floor Persons Country
7 M Canada
) 4] Germany
5 Q [taly
4 N Spain
3 S China
2 P India
1 3 Brazil
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Google Play

$30. Ans.(d)
Sol.
Floor Persons Country

7 M Canada

B 0 Germany

5 Q [taly

4 N Spain

3 S China

2 P India

1 R Brazil
$31. Ans.(b)
Sol.

Floor Persons Country

7 M Canada

6 0 Germany

5 Q [taly

4 N Spain

3 S China

2 P India

1 R Brazil
$32. Ans.(d)
Sol.

8m
8m T
Home
10m
6m
12m
g R
$33. Ans.(b)
Sol.
8m
8m T
Home
10m
bm
12m
g R
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S$34. Ans.(c)
Sol.

8m

8m T
Home

10m

em
12m

$35. Ans.(d)

$36. Ans.(b)
Sol.

$37. Ans.(c)
Sol.

$38. Ans.(a)
Sol.

GET IT ON
Google Play
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$39. Ans.(e)
Sol.

$40. Ans.(c)
Sol.

S$41. Ans.(d)
Sol.
Ratio of profit share of A, Band C= 1300 % 12:500 X 12: 1800 X 6

=26:10:18
=13:5:9

ATQ, 27P X 21? = 360

9P = 360

P =40

Required difference = 27P X ? X 40 = 320 Rs.

S42. Ans.(c)
Sol.
Let present age of A and B be ‘a’ years and 'b’ years respectively

a+b=15X2+10=40 years

Let the age of A and C be 6x & 5x respectively
50, we can say a = bx

So,ageof B=5x-4

ATQ, 6x+5x-4=40

11x =44

x=4
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Presentageof B=5 X 4 — 4 = 16 years
Presentage of C=5 X 4 = 20 years
Required sum = 16 + 20 = 36 years

$43. Ans.(d)

Sol.

ATQ, 3:::—:51 —x+ %

8X+151=10X+ 15

2X =136

X=68

Weight of lightest people = (68 -5) =63 kg
Required difference = (151-63) - 63 =25 kg

S44. Ans.(e)
Sol.

Let highest marks of the exam = 100x

100% X — 4 40 = 100x X — — 20
100 100

30x =60

x=2

Total marks get by C =200 X % =130
Required difference = 130 - 200 x % =50

$45. Ans.(c)

Sol.

Equivalent rate of interest at rate of 10% p.a. for two years =[1{]+1D+¥} =21%
24 21P _

(P+500) X ——=2=150

F =~ 30

100

P=1000

Required amount = 1000 + 500 = 1500 Rs.

S46. Ans.(d) A
Sol.

Wrong number = 3 B AN K
Pattern of series -
6400 + 16 = 400 MAHAPACK

400 +8 = 50 for all Bank & Insurance
50+4=125 Exams

12.5 + 2 = 6.25

6.25+1=6.25

ke
Selection Ka Saathi

6.25+0.5=125
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S$47. Ans.(c)
Sol.

Wrong number= 48
Pattern of series -
34-2=32
32+4=36
36-6=30
30+8=138
38-10=28
28+12=40

$48. Ans.(e)
Sol.

Wrong number = 108
Pattern of series -

43 + 22 =47

47 +32=56
56+42=72
72+52=97

97 + 62=133
133+72=182

$49. Ans.(d)
Sol.

Wrong number = 256
Patten of series -
12+16=28

28+ 32=060

60 + 48 =108

108 + 64 =172

172+ 80 =252

252 + 96 =348

$50. Ans.(a)
Sol.

Wrong number =7
Pattern of series -
3x2+2=8
Bx3+3=27

27 Xx4+4=112

112 x5+ 5 =565
565 x 6+ 6 =3396
3396 X 7+ 7 =23779
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S$51. Ans.(a)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120 =190

100+100+1%0 _ 390

Required average = . i 130
$52. Ans.(d)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150 =100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120=190

Total number of rooms in hotel F = % » 280 = 350

Total number of rooms occupied in hotel F =§ % 120 = 168
Total number of rooms vacant in hotel F= 350 - 168 =182

$53. Ans.(e)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 250-180 =100
D 260 130 260-130=130
E 310 120 310-120=190

Total revenue generated from hotel A = 55000
X =110 =55000

X=500

Total revenue generated from hotel C = % ¥ 55000 = Rs.50000

ATQ,

Y = 100 = 50000

Y =500

Required value = 500 + 500 = 1000

GET IT ON
Google Play

30

I adda247.com/defence | www.sscadda.com

www.bankersadda.com

www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

S$54. Ans.(b)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150 =100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120=190

Required percentage = g X 100 = 52%

$55. Ans.(c)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 280-180=100
D 260 130 260-130=130
E 310 120 310-120 =190

Number of rooms occupied in hotel A and D together =110+130=240
Number of rooms occupied in hotel E and B together =190+100=290
Required difference = 290-240=50

$56. Ans.(c)
Sol.

99 +20- 101 & =

108
J'\,l_
18 & ;

7TR6

S$57. Ans.(c)
Sol.

V7% 784 — 1180 + 400

VIR 4

7R 16

$58. Ans.(a)
Sol.

197 — 20% of 190—7% 90
361 —38-7~ 90
233 =2

GET IT ON
Google Play
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$59. Ans.(d)

Sol.

25 +22x 27 27
2(5-2) w27 e 27
210 & 27

710

$60. Ans.(b)
Sol.

2 X450+ 72=256-4
100

72=252-108
?7=12

$61. Ans.(d)

Sol.
x+5 3
ATQ 5™ 1

x=37
Required answer = [3745+8+6) — 10 = 46 liters

$62. Ans.(a)

Sol.

Let height of triangle = 2x

So, based of triangle = x

5x% =640

x2=128

Curved surface area of cylinder = 2nrh
=2m2x X x

=4x 128w

=512 cm?

$63. Ans.(a)
Sol.
Let the speed of P and Q be 5x kmph and 8x kmph respectively.
ATQ,
D=3%x5x=15x ... ()
Also, D + 40 = 2.5 % 8x
D=20x—40 oo, (11)
Solving (I) and (I},
15x = 20x — 40
x =298
So, 0D = 15x = 120 km
Original speed of P= 5x = 40 kmph
120+180 300
Required time= PR = — = Bhour

[ m— 50
100
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S64. Ans.(d)

Sol.

Let the five consecutive multiples of four be 4a, 4b, 4c, 44d, 4e;
where a=x, b=x+1, c=x+2, d=x+3 and e=x+4 ......... (1)

ATQ,

da+4b+ 4c+4d + 4e = 200
a+b+c+d+e=50

Opbx+x+14+x+2+x+3+x+4=50 ... from (I)
5x = 50 — 10
x=28

So, smallest multiple=4a = 4x =4 x 8 = 32

$65. Ans.(c)
Sol.

Let the speed of stream be x kmph.
So, Speed of boat A in still water= 4 X x = 4x kmph

ATQ,
24

=8

dx—x

x=1

So, speed of stream= x = 1 kmph

Speed of boat B in still water=5x + 2 =5 x 1 4+ 2 = 7 kmph
Required time= % = 4 hours= 4 X 60 = 240 minutes

$66. Ans.(b)
Sol.

Total people (Vegetarian + non-Vegetarian) visited in F

=150 X~ + 100 X —
5 100

- 210 + 150

=360

Required difference = 360 - 120 = 240

S67. Ans.(c)
Sol.

Total non-vegetarian people visited in Cand D
= (140 + 120) = 260

Required percentage = 25:;;3{' X 100 = 44.440 & 4404
$68. Ans.(b)

Sol.

Required sum=70x 7 + 120 x 7

=490+ 840

=1330
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$69. Ans.(d)
Sol.

Total people visited E= 130 + 100 = 230
Total people visited A= 120 + 150 = 270
Required ratio= 230: 270

= 23:27

$70. Ans.(d)

Sol.

Average number of non-vegetarian people visited in B and D
80+120

= =100

Required percentage = 122;;“ X 100 = 20%

$71. Ans.(b)
Sol.

Let present age of A, B, C and D be a, b, ¢ & d respectively
a+b+c=14X3 =42--(i)
b+c+d=15X3+4x3 =57 —-- (ii)

a+d =27 ----(iii)

From (i) and (ii)

d-a=15-- (iv)

From (iii) and (iv)

d=21

Required age = 21 + 5 = 26 years

§72. Ans.(a)
Sol.
Total cost price of quantity of mangoes seller had =230 % 10 = 2300 Rs.

So, total selling price of quantity of mangoes seller had, if he had to gain 15% profit = 2300

X = = 2645 Rs.
100

Total quantity of mangoes available for selling = 230 x % = 184 kg

Total selling price of half of 184 kg of mangoes which seller sold at Rs. 20 per kg = 184
X =X 20 = 1840 Rs.

) 2645 — 1840

9".'

So, seller had to sell the remaining mangoes = ® ﬁ = 8.75Rs./kg

$73. Ans.(d)
Sol.

Let the efficiency of a woman be 4x

Efficiency of a man = 4x x i— = 3x

Let the number of men be A
F0X4xx9%10  AxIwxExXL0
ATQ, =

1000 1500
A=108

34 I adda247.com/defence | www.sscadda.com www.bankersadda.com | www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

S$74. Ans.(a)
Sol.

Speed of train X = 20 m/sec

Let length of train X be x m

From 1

length of trainY = 0.5 xm

From I

Speed of train Y = 20 = 1.5 = 30 m/sec
From I & I1I

x + 0.5x
—— =30+ 20

x=200m

$75. Ans.(b)
Sol.

Let radius of circle = rcm

So, side of square =r + 3.5 cm
FromlI -

2X=Xr—2r =45

r=10.5cm

side of square = 10.5+ 3.5 =14 cm
Area of square = 196 cm?
Statement [ alone is sufficient to give answer.
From II -

Let breadth of rectangle = 2x

So, radius of circle will be = 3x
ATQ -

22
2 ®— ®3x 3
7 —

2(2x+15) 2z
x=35cm
Radius of circle = 10.5 cm

side of square =10.5+ 3.5 =14 cm

Area of square = 196 cm?

So, either statement [ or Statement Il alone is sufficient.

S$76. Ans.(a)
Sol.

L2x2-14x-3x+21=0
2%x(x-7)-3(x-7) =0

3
x=7,-

2
[L3vi-v-4=0
3y2-4y+3y-4=0
v(3y-4) + 1(3y-4)=0

_1
y=h3
x>y
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S$77. Ans.(e)

Sol.

[.2x%-x-45=0
2x?-10x + 9x -45 =0
2x(x-5) + 9(x-5)=0
x=5-45

IL2y2—5y +3=10
2yi—3y—-2v+3=0
y(2y-3) -1(2y-3) =0
y= 1%

So, there is no relation between x and .

$78. Ans.(a)

Sol.

L2x2—23x+66= 10
2x2 —12x —11x+66= 0
2x(x-6)-11(x-6) =0
X= lq—l, (5]
IL3y*—16y+21=10
3y2—9y —Ty+21=0
3y(y-3)-7(y-3)=0

¥= 3, E

So, x>y

$79. Ans.(c)

Sol.

L2x2+ 12x+4x+24=0
2x(x+6) +4(x+6)=0
(2x+4)(x+6)=0
x=—2,—6

[l.ey2+9y+4y+6=0
Iv(2y+3)+2(2vy+3)=0
(2v+3)(3v+2)=0

3 2
y="37s
X<y

$80. Ans.(b)
Sol.
L12x% - 12x=13x- 12
12x%-25x+12=0
12x®-16x-9x+12=0

(4%x-3) (3x-4)=0
3 4

D]
IL. 12y - 13y +3=0
= 12y* -4y-9y+3=0
=12y* -4y-9y+3=0
=4y (3y-1)-3(3v-1)=0
= (4y-3)(3y-1)=0

1

3
3
So,xzvy
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